HSC 2001 - Biology

Question 1
Question 1
1 The Australian hopping mouse, Notomys alexis, is a desert animal. It produces urine that
is very concentrated.
Why is this an advantage for the animal?
(A) It needs to conserve water.
(B) It is nocturnal and only drinks at dusk.
(C) It has a high intake of salt in its specialised diet.
(D) It needs to excrete large amounts of water to survive.
Choice | Band 1/2 Band 2/3 Band 3/4 Band 4/5 Band 5/6
A 42.7 81.6 95 99.2 99.5
B 7.3 1.6 0.9 0.1 0
C 35.5 13.2 3.2 0.7 0.5
D 14.5 3.6 0.8 0 0
N 0 0 0 0 0
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The table and graph show, for the groups of students whose marks in the examination corresponded to the

borderline between two bands, what percentages of each group selected the responses A, B, C and D. N is used to

identify: No valid response.
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